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2 ) Der grosse Intelligenz test, 1 Q ........ Wolfgang Reichel
3) Traine LQ......... Martin Semon Franzjs / Brainbook.
4 ) Das Denkspiele,....... Martin Semon  Franzis / Brainbook.

5) 1 Q Training Program..... Philip Carter Und Ken Russe ll Basser
Man.
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15) The Ultimat IQ test book ..... Philip Carter
BSada e eddlila 1 el sy bl a1 S5 4y (16
0SSR 09 | s smn Y g ASAKIAG 03 SlSlabis A3y Silaile Al a5 S g9 (17
832 A (A4l AS GlSA) § Al g sddla Cpaida Ad a5 (Siagew (18
=1 0 g9 5 090 ) 93 Al ATLiSJaiAR AS 0 g1 K o g 0 gAdLIAL

,,,,, ) KA B (aBll) AN A La ¢ dsua ) ¢ dpbaa Jlad) ¢ elSA) LR cilukly
,» Matchstik Puzzles ,, Test your 1Q ,, Erich's puzzles palace

,» Math and Logic Puzzles ,, Free Math Puzzles ,, Math Beauty

,» Any Puzzle Media ,, Blackout Puzzles ,, Free Inky Puzzles

,» 1Q Test diagrams ,, Tanggram Puzzles ,, Puzzles Com.

,» Denkspiele ,, Narcissistic Numbers ,, Domino Puzzle

,» Intelligence quotient test (1Q test. ,, Number Link Puzzles

. Zig-Zag Puzzles ,, Data Interpretation,, Apt maths shortcuts

......... How many Squares , Triangles, Rhombuses.......in the figures

A A A\ A AN
VN VN VPV N N VN
DA D4 D4 D4 D _J
v v "V v "V
A\ A\ A
7N V N VN
N4 D4 D_4
v v v
A\ A
7 N VN
N4 D_4
v v
A\
7N
N4
v

316


http://www.google.ch/url?sa=t&rct=j&q=&esrc=s&source=web&cd=10&ved=0CF8QFjAJahUKEwistLHIwYXHAhUGzxQKHXuEClE&url=http%3A%2F%2Fhreeb.com%2Fvb%2Farchive%2Findex.php%2Ft-25154.html&ei=D327VezwOIaeU_uIqogF&usg=AFQjCNGwiTF0d_qndqXhPVDqYGFIIrgx_A&sig2=Ut2fkf7Lfgta8MtwbShnJQ

Wl liagglil) ga—wa X

FJ AL G 20 A Gloodidy AR codidy 22 (U A Fod Ay (509 Ay pdd
9 o bad Ay ASHY SdadS g 0 g S A4l (sSAmaidiaul ULMJJ SR o0 g silgshy
4553@33JL93M34chJ\JpgmAJMMJJMUAhMMeoJLAJ

Ada 9o ) gy A ddn s £ Sl 7 Ad) gl
6°4‘JVJWMJMM°MJE

A S0 309 A 9 A5 0 SR g A
SJAas 5r g 9l 5 g AL Sde gid
Q*QLSMﬁJM}SJbﬁMLSYL@&S%:@Q
(g 4 (Logic dha 3 ) Adlid ) j Suo gii 4a 9
I 3a Al Gldadd AS (0 A& IailsAd 3 (o
JaBgpa gl AL o AR LS S sl

CAadd AlSbala Aduli g gadd 3 AS AdLLE g0 g
a;susws&;”suwwyﬂ,gw#dgswﬁ;qmu& ccuiad o€od
9 ol (,Sila ) Ay 0 glaal gAd adiind) o UAR | Cuiliw jAg 9 S 1aAEAD (5 S 3
L9y Alasilaila Sl ) Ay A cCamind s Aeddn (199 § S

(A58 A AS GASANYD 5 o Ay (GASAS |, 0 gl SAS i B S g AR ASAS
phd a9 gleli Ad g 4oy 548 SAATAR |y JAAT ded AT g 14D 10480 ) Ay
5&4Mbﬂ@bé3£J§Qogﬁ&o:#M@QJoﬂ&aéJjjéw
02y 1AARAY MG A gAR 5 iy e A Al g L i g gy 438
¥y cclSon 1048 9 g5 Ay pdd JAS 4D o, clildian Ay g 0 ALigA A 4S aluls
319.J4..|M434.§QQEMJ,;j&Q\.QJ@JMMoj\ﬁéj403UMM&ajgaﬂ
S0 (g 9 Aidad g genn iy i Ky

Mada Sdow Aoy c3d AlBoAdAn Cugsa e 5 5 5 Adledd g gada (59
Ay A AS A Gy 9 LIS gAS B L R AU 5 a9908 QIR
SEEAD Gl A AR algod a5 093 S ggdile GLiSA Jlow (pidy 1348 ASAdy
0 Ak g 19U (S ) g e Ay Adliad) ) (SAgo iy 9SS (3 S0 0 9 Ay 9 A3
CAS O (AL g QLA Al § ) Ay GRASAL £ iy g QLU Sieds A o

SIL Canpads £ CAALL ) pAd LIS A AS Ao gAd GUGHAY A a ki)l gd ASUS
£33 O L g (s LG (g o gAS Alliod o g4l AS 0 JATAS) (la yiddy
Sy g

317



